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POMIESZCZENIA:

KONDYGNACIA: PARTER
POWIERZCHNIA; 37,59 m?

POW. APARTAMENTU: 105,68 m?

POWIERZCHNIA:

WIATROLAP 229 m?
LAZIENKA 1,70 m?
éNEKS KUCHENNY + JADALNIANY 15-.'!5 m?
SALON + KLATKA SCHODOWA 18,45 m?
'i'ARAS -1.1-0 m?




105

862

L 1
105, 288 " 286 s 100, 188 o105,
105,30, 802 A0, 105
Z 300 ¥ 170 ,_« 360 "
LINIA OKAPU
sal L
£ g
i g E = M
4 2 . =g :: 58 poi
\g S~ — D : D_- OO0 _:g i
& =3 ]
10 IR |
@ 278
{4
g &
2 R (=]
278
2
o
o \
S
\kj D

082
gz

008
06

0LE

¥Se

JINACIA: PODDASZE

POWIERZCHNIA: 43,49 m?

POW. APARTAMENTU: 105,68 m?

POMIESZCZENIA; POWIERZCHNIA;
KORYTARZ + KLATKA SCHODOWA 5,36 m?
LAZIENKA 7,35 m?
POKOJ n31m?
POKOJ 1,16 m?
F-:‘OKOJ é".31 m?
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GNACIA: PODDASZE Il

POWIERZCHNIA: 24,60 m?

POW. APAR

POMIESZCZENIA:

KLATKA SCHODOWA + POKOJ

AMENTU: 105,68 m?

POWIERZCHNIA:

24,60 m?
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PRZEKROJ BUDYNKU

POW. APARTAMENTU: 105,68 m?




